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What is this — T 3297 IR INIWYD N SWIBWT 0 YR KRP IND
teaching us; that a >w>>w can be made into a "1 it is the same thing

OVERVIEW

The X1 asked what did ¥ add by saying that they burnt *w°%2 12w with a <2
NwRA (which will make the 12w a "1w), we know this already from "o that they
burnt a >v°5w W2 with a PRI w2 which turned the “w°w w2 into a *1w w32, Our
MvoIN qualifies this question.

- 999 XY ERIPININT YN NNPVN YN PPN T9INT N0
According to the one who maintains that an %218 cannot be X»u» another %28
NNTIRTR, the X773 has no question -
INTPININT $5IW AN MUY AMNT 901N 1YY
For according to this 7"», ¥"1 did add that one is permitted to make a w5
even into a Rn»INTH w.*

SUMMARY
The addition of ¥"7 is understood if we maintain 2°WIP2 92X RnpvA 29I PR
RDPRTA.

THINKING IT OVER
1. Why (according to n1©01n) did not the X723 clarify that the question is only
according to the 7"» that Y218 is 2w 22X KLY

2. What is the bigger w17°1; to make from a 131277 *w°2W a 13277 21w, or to make from
a RN™IRT "wHw a XPIKT 2w?°

! This refers to X277 7°»wn X737 that even by RN™IRTA 791X RALA 29X PR WP,

2 The *w*>w w32 remains a XNPIRTA *WHW W3 since RNTNRTA 2918 XAwn 291X 1°R; it only becomes a 112771 "1w.

3 The A1, which is a Xn™ R R is Xnun the W to become a XN™IRTA "W (a °25 can certainly be (P721X) Xnun
PRwRY.

* The question is only according to the 7" (this is »ax and X277 72w 727K 12 X7X 27) that by Dw7p an "2 is Xaw»
XNMIRTA 20, therefore we already know from 7"onA that one can make a "w°>w into a XN MR 1w,

3 See ywim "1,

6 See wTm MX.
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